. 1) Summerfield Furniture needs to ship 20
couches across the country. If they can fit
6 couches in each truck, how many
coucheg will be in the partially full truck?

A)) Z coucheg
B.) 5 couches
C.) 3 coucheg
D.) 4 couchesg
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2.) A boy at an amusement park hag 67
ride tickets. Each ride on the roller coaster
costs 8 tickets. After riding the roller
coaster as many times ag he can, how

many tickets will the boy have left?

A.) & ticketg
B.) 11 ticketg
C.) 3 tickets
D.) 7 tickets
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' 3.) There are 22 people in line to ride the
bumper cars. 6 people can go in each

round. How many people will ride in the
last round?

A) 7 people
B.) 4 people
C.) 3 people
D.) 28 people
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4.) At the fair, Stacy hag 85 ride tickets.
Each ride on the Ferris wheel costs 2
tickets. After riding the Ferrie wheel as
many times ag possible, how many tickets

will Stacy have left?

A) 42 tickets
B.) 44 tickets
C.) 8 tickets
D.) 1 ticket
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